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|. (a) What do you understand by marketing? Discugs the

marketing concepts that have guided the marketing

decisions. (8)

(b) Why does a marketing manager need to understand
marketing environment? What are the main elements of
the macro-environment affecting marketing decision?

Explain briefly. (7
OR

(a) Explain the concept of marketing mix. As a marketing

manager of airlines company how would you plan the
marketing mix? (3)

(b) Why is marketing so important in today’s world to the

business firms and to the society? Elaborate. (7
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2. (a) What are the essentials for an effective segmentation?
Explain geographic and psychographic bases of

segmenting the market. (8)

(b) Does the consumer go through a definitive decision
process while buying a laptop? Give reasons. Also
discuss the various stages of consumer buying decision

()

process.
OR

(a) How does the selection of target market and product
n making

®)

positioning assist the marketing manager 1

prudent decisions?

(b) Why is there a need to study consumer behaVio-ur? thaz
are the personal and psychological factors which a (670)

consumer behaviour?

p.T.O.
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3. (?) Define product. Explain the classification of products

with examples.

®)

(b) What do you understand by Pricing? Explain cost-based

and demand-based pricing. (7
OR

4,
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(a) “The market today requires setting a systematic new-

product development process”. Discuss. (8)

(b) Discuss various factors that a consumer-goods marketing

firm needs to consider while setting the price. (7
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(a) Explain the importance of channels of distribution in

marketing of products. What factors affect the choice
of channel of distribution? (8)

P.T.0.
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(b) What is a promotion mix? What promotion mix woulq

you suggest for the followigg products? (7)
(i) Smart-Phones
(i) Water purifier
OR

(a) “Store-based retailing has assumed considerable
influence in modern-day marketing.” Discuss the above
statement with reference to various types of store-based

retailers. (8)

(b) What are the challenges faced by the marketer while :

marketing goods and services in rural markets? Give

suggestions to overcome these challenges. 7
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Attempt any three of the following : (5,5,5)

(1) Integrated marketing communication

(ii)) Marketing of Services

(iii) Online marketing

(iv) Market skimming pricing and penetration pricing
fefafeg ¥ @ 5 = = Ak
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(@) “Financial management has expanded in its scope during
last few decades.” Discuss and contrast the salient features
of the traditional and modern approaches to financial
management. 4

(b)) The income statement of PQR Ltd. for the current year
is as follows B
Particulars Amount(X) | Amount(X)
Sales 7,00,000‘
Less: Costs
Materials 2,00,000
Labour 2,50,000
Other Operating costs 80,000
Depreciation 70,000
Total 6,00,000
—
Earnings Before Interest and Taxes (EBIT) 1,007000
Less : Taxes (@ 40% 40,000
I—
60,000

Farnings after Tax (EAT)

(%)

(3) 1207

The plant manager pr;)poses to replace an existing
machine by another machine costing ¥ 2,40,000. The new
machine will have 8 years life having no salvage value.
It is estimated that new machine will reduce the labour
cost by ¥ 50,000 per year. The old machine will realize
T 40,000. Income statement does not include the
depreciation on old machine (the one that is going to be
replaced) as the same had been fully depreciated for tax
purposes last year though it-will still continue to function,
if not replaced, for a few years more. It is believed that
there will be no change in other expenses and revenues
of the firm due to this replacement. The company requires
an after-tax return of 12%. The rate of tax applicable to

company’s income is 30%. Suggest whether the company

\

should buy the new machine, assuming that the company
follows straight line method of depreciation and the same
is allowed for fax purposes. 11
‘ot wey & TR s we vt § frmw
W0 R 1" foreita woie & wwrma iR anyfr ot
F g wifw @R wga fasmed @ fadem
Hife |

P.TO.



() 1207 (5) o

(@) =] o™ & fou por fafes &t oma @1 foary 2 50,000 9fq a8 kA @ Swh @A Wi &
T YFR ¥ | B % 40,000 I BH1 | ST & %A § WA 79T W
Teagd wfhe et €, 5 wei= @ wfoeenfia &
ferarm R | e :
i T Hife 39 W T JoIg¥, H & evd 9 fuew
fersnt 700000 WIS AT T o TR 9% o™ W w W
T ;. A - T awd 5 wo ad 3@ whenfra 9 fea S
y T o S ¥ fR et wEt # eI 3w wfaeerH
e 2,00,000 ‘ . .
. - ‘ | q FH & Tod | o FE IRadd T8 erm | wuEl
9o 250,000 | F GER D IR 12% A = §1 w31
- I o | W A FF R 30% ¥ gIE AR B wT
, | H R W Sl e o T, 7 A fa
T , 70,000 i C EHT YoEed & Helt Yo fafy e e s
Eayl 600000 ¢ SR T W F S ¥ Wi ¥
=T 3iR X QI e (BBIT) | 1,00,000 o _
. : (3rxam)
T : R @ 40% 40,000
' V A (a) “Wealth maximisation” is only a decision criterion and
T & I 3! (EAT) 60,000 | |
not a goal of a firm. Explain. 4
SRERC IR e S R L @-ﬁ 'q'Q'ﬁT-[ . ()  EFG. Technology Ltd. is considering a new proje.:ct for
R l EFFF!T <l % Freent 3 2,40,000 manufacturing of solar energy games kit involving a
7 X HYA H1 8 el 1 SiaA M W e ' capital expenditure of ¥ 600 lakh and working capital of

Ted TE A A ® f 78 TeiA 9 -em-erd PTO.
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¥ 150 lai. Thie plant hias sapacicy of antia] praducifon At the end of third year, an additional investment of

of 12 lakh units and capacity utilisation during 6-years Z 100 lakh would be required for working capital. Terminal
working life of the project is expected to be as mentioned value of fixed assets (sold as scrap) may be taken as

below ° ' 10% and for the current assets at 100%. Give suggestion

to EFG Technolo;gy Ltd. regarding taking up the new
Year \ Capacity Utilisation (%)

project. 11
1 3333 (%) “eF STfumadeRe Sed folg o w1 e §
| ' 7 % # @ = wife |
2 66.67
(@) EFG TN fafee ¥R e @l &t fae o1
3 )
fmfn w0 ® fag € 9fEsT | faar =@
& 100 59 W 7 600 @ IS T ST@ 3R wEE
_ ¥ft 7 150 @ T B HEA H 12 @ A K
5 100
, IR H H gEA § IR IR & wrEwie
6 100 ST ® 6 98 & SR &l ITAN 9 S MY
" SER B H MM T
The average price per unit of product is expected to
. . EL| STRT- G (%)
be Z 200 netting a contribution of 40%. The annual
] 1
fixed costs, excluding depreciation, are estimated to be =08
% 480 lakh per annum from the third year onwards; for =5 - 6667
the first year and second year, it would be T 240 lakh 3 %0
and ¥ 360 lakh respectively. Depreciation is charged 4 100
@ 33.33% on the basis of written down value (WDV) 5 100
method. The rate of income tax may be taken as 35%- : 6 - 100

The cost of capital is 15%. P.TO.
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(8) | 1207
Rt gfre shea AT T 200 TR T ST ¥ For
40% AN M| e TR ANl S o
F Bow, T T & M T 480 T@ Ui a9
TR H FIAA T e a9 R W I g HH:
7 240 W@ 3R T 360 W@ WM WiEA goa fafy
(WDV) % SR W Hedad 33.33% F1 T T foa
M HEF F R 35% ST WA w1 St

H AN 15% B

fR e B o A wrE f B R 00

ara sifafe faw &t savaswar Bt T
ufgufEt &1 sifad g (B9 & &9 § 91 W)
m%trﬁvm‘a%aﬁ?mqqﬁ'ﬁqﬁﬁi%m 100%
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What is capital budgeting ? “Capital Budgeting decisions

are irreversible.” Do you agree ? Comment. 4

From the following information provided by MNO Ltd.,

you are required to calculate the weighted average cost

(9) 1207
of capital (k,) using Market Value Weights. The present

book value capital structure of MNO Ltd. is :

(Amqunt in )

Debentures (¥ 100 per debenture) 10,00,000
Preference Shares (¥ 100 per sharg) 5,00,000
Equity Shares (¥ 10 per share) 20,00,000
Retained Earnings | 5,00,000

40,00,000

All these securities are traded in the capital markets.
Recent prices are : debentures @ Z 110, preference shares

@ X 120 and equity shares @ ¥ 22. Anticipated external

financing opportunities are :

7

(/) X 100 per debentures redeemable at par : 20-year _

maturity, 8% coupon rate, 4% ﬂoafing costs, sale

price T 100.

(i) X100 preference shares redeemable at par : 15-year
maturity, 10% dividend rate, 5% floating costs, sale

price ¥ 100.

(fii)  Equity shares : ¥ 2 per share floating costs, sale
price T 22.

BIO.
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In addition, the dividend expgcted on the equity shareg
at the end of the year is T 2 per share; the anticipateq
_growth rate in dividends is 5% and the company has the

practice of paying all its earnings in the form of divideﬁds.

The corporate tax rate is 30%. ' 11

(%) “gSi-orsed w0 qa ¥ 2 st awed fofg

. STIGRANIE B ¥\ N STY Wewa ¥ ? fowh
HIT |
(@) Frefafen e MNo faftes gr < T ¥ st
R Hed AR w1 T e S R i i
AT (k) T R FT E Mo Fafiies =
WW:@@W%%

|

@fRr T W)
fea==r (2 100 9@ fea=R) 10,00,000
i SR (2 100 T SE) »s,oo,ooo -
St TR (% 10 9 TRR) 20,00,000
fenfa STHRAT 500,000

/

40 700’000

(11) 1207
T wft gfayfr 1 Ot SR d =R g
qehtd ®Ad 3§ o: feamR T 110 W w9,
SARMAM IR 2 120 T T F R I IWz 2
R W A T e P R A E

() W9 I W ¥fd }F z 100 9fa fea=R

20 9 IROFEAT, 8% HIT T, 4% T A,
fasra ®ma 2 1001

(if) w&@mqﬁﬁumoow AT IR
15 o RS, 10% TR ST, 5% T T,
fasra i\ 2 1001

(i) S IR 1% 2 WA IR wrEw A, fawy
T T 221

T e oo & o § R I W e
2 WA YR B HY HWIET 1 e By
s T 5% ¥ 3R Rt w a7 Hewen @ ¥ fr
O W b diE @ e 6 ¥ s
F R 30% T
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(@) A fafee ik B fafiee @ &F € & T+t g

Or

(3rg=m)

| | ¥ THEY § HId 3T St T F i & S
(@) Compare Net Present Value (NPV) with Profitability Index

(P1) method of evaluating a capital'budgeting proposal. _ f = TI'§ T 9 T
Which one is better and why ? 4 | '
: | feraun A fafuee B fafies
(b) There are two firms A Ltd. and B Ltd. which are identical \ :

‘ A _
in all respects except in terms of their capital structure ' EBIT ¥ 1,00,000 % 1,00,000
as can be observed from the details given below :

| 10% fea=R % 5,00,000 —
Particulars A Ltd. B Ltd. L

: | k o

EBIT 21,0000 | %1,00,000 | ‘ 16% o0
10% Debentures % 5,00,000 = | 3 FHT % e 1 IReeE I 3R MM 39T
k, e | 2% 1 ¥ F Fafia F Fr A R F 10%

Calculate the value of the two firms and illustrate using

I F uRE FEve & o9 v A e

MM approach how an investor holding 10% shares of

A Ltd.will be benefited by switching over his investment | : ¥ B fafis § @ w1 w e TR &9 B 2

from A Ltd. to B Ltd. When will the arbitrage process

TR W w5 T SR 2

come to an end ? 11
(%) Fft = T . Y=, 1 S 3 (@ What d.o you mean by Agency Problem ? How can this
T (NPV) i AV Yo (1) fafy | gor be resolved ?

4

w1 e fafy e ¥ sl w2
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(b)  The following is the selected financial information for the -

year ended 31st March, 2016 for two companies : X Ltd.

~and Y Ltd. : .
Particulars X Ltd. 'Y Ltd.
Varigble cost as Percentage of Sales 66.67 75
Interest Expense (%) . 200 300
Degree 6f Operating Leverage 5 ‘ 6
Dégree of Financial leverage 3 4
Income tax rate | 35% 35%

Prepare Income Statement of both companies and also

comment ‘on their risk position. \ 1

(%) T gHE § 319 o Toed § 2 et e

A o W wwa ¥ 2

(15)
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(@)'xﬁiﬁ%@:aﬂivmmﬁmﬁ
fera 31 AT, 2016 N TS gC oW & foau faig

Wﬁ'ﬂﬁﬁf@lﬂ%

feramor x fefirde | v ffiree
ﬁﬁﬁm%mﬁqﬁaﬁm. 66.67 75
»mﬁéﬁﬁ@ﬁ(a 200 300
e SR # fef 5 6
forita <’ st Tt 3 4
JFHT Tl <X 35% 35%

ﬁﬁﬁﬁ?ﬁ&ﬂﬁ‘ﬁﬁ%ﬂﬁwmaﬁ{

ST e feft w ot Fif)

or

(arera)

(@) Why is consideration of the time value of money

important in financial decision-making ? How can time be

adjusted -?

4
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(v) From the information given below, determine the (@) F @ 53 A s
' - wE FT fruffa EIR:CEI]
value of two firms (A Ltd. and B Ltd.) belonging ¢, e I Fifm

Sfeq = # et § sad () faa o9 Iurm
R (i) Firaer waTert oty ST @ it ot Hee

homogeneous risk class except in terms of capital structure

' ' F DEH :
under (i) Net Income approach and (ii) Net Operating 20

AT | Affie | pfafine

Income approach :

=S 3R X gHM QT8 ST (EBIT) | 32,25,000 | £2,25,000

Details A Ltd. ‘ B Ltd. (0.15) ?7'5’000 —_
. , R PR '- 020
Eamings before interest and tax (EBIT) | -¥2,25,000 | ¥2,25,000 :
| ETA 035
Interest (0.15) T 75,000 e
4. (a)  Discuss the Modigliani and Miller approach of irrelevance
. - 4 ivi . 4
Equity Capitalisation Rate 020 o,f davidends
‘ ()  The following information is collected from the current
T
R 035 year annual report of JKL Ltd. :
R .
1n Earnings of firm - < 18 lakh
: ) ' Number of equity shares 3,00,000
(%) ffra ot ot & 9 B wwm g W AR |
' Return on investment . 225%
i fFn S ¥ 2 T W g e ,
Cost of Equity 15%

W % ? P.T.O.
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(18) 1207
What should be the dividend payout ratio so as to keep
the share price at ¥ 42 by using Walter Model ? Also,
determine the optimum dividend payout ratio and the
market price of shares at the optimum dividend payout
ratio. What will the maxim‘um\ and minimum share price

under this model ? 11

= fad= s ‘

KL fafaes = =g o6 =t anfties RaE 9 Henfer
g fafafad €

o B eehE

3 18 T
EEeciliprilicaticies | 300000
faw w gfawd D%
s = ara 15%

Y Yoqse STU F BHT WY IR AleeX
Ttesl &1 gaN Fe YR H. HE 2T/ ?

maﬁmwﬂﬁmwﬁkmw@ |

U ST W I B TSR FE w1

TN 30 Hed & AR sAfuway iR A
TR W w@ B 2

(a)

)

()

(19) 1207

Or
(sreran)

What is “informational contents” of dividend payment ?
Enumerate the main determinants of dividend policy of

the firm. 4

X Lta. belongs to a risk class for which appropriate
capitalisation rate is 10%. It currently has outstanding
25000 shares selling at ¥ 100 each. The firm is
contemplating the declaration of dividend of ¥ 5 per share
at the end of the current financial year. The company
expects to have a net income of ¥ 2.5 lakh and has a

proposal for making new investments of ¥ 5 lakh.

Show that under MM assumption, the payment of dividend

‘does not affect the value of the firm. Do you think MM

model is realistic with respect to valuation ? 11

AU ST St GEArTa Tt = et ¥ 2
w4 & @ fifa @ qe fuiel w1 gl
Eaisig

(@) x fafaee sa <ifegw = # ot & oo fog

- ST YSRTOT X 10% ¥ 1 T U 39 THA AT

P.T.O.
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IR 7 100 ® FFA @ 25,000 T SR Tyt -

mqmaﬁaﬁwﬁam?sgﬁfwwﬁm';

Afd F@ F A" @Sl BT R T 2.5 ORg
F e B F o ¥ R THE 7 s A @
Tq W 0@ & A T _

TR IS o My 3R & efqria avisT )
S H1 FH F A T IHE T TSR | 3T
fore & o e B e § MM e T
¥ 2 - |

Explain the Miller-Orr model of cash management. 4

GHI Limited is considering making its present credit
policy a bit strict. The cyonipany has current armuai sales
of ¥ 60,00,000 and it is expected that implementation of
the proposed credit policy would decrease the annual sales
to ¥ 48,00,000. The average collection period would
decrease from 60 days to 45 days. The sale price of the

product is ¥ 40 and the variable cost involved'in

manufacturing of a product is ¥ 30. On the volume of

1,50,000 units, the average cost is  34. Assume a year
comprises o{ 360 days. Give advice whether the proposed

strict credit policy shall be implemented if the firm's required

rate of return is 25%. 4 | 11

(21) ' 1207

(%) ks Yoy & fHeR-3IR Afse &t =rew Hifsu|

(@) GHI fafiee o1t adam fee Hifa # #8 FR

T W foeR #X @ 81 FTA H FadE i
o2 60,00,000 % SR At arem & o wrefora Ffez
Hifa 1 fouga @ W At fosht 7 48,00,000
w%aﬁl‘ﬁﬂammsoﬁ?@fw
o5 Rt & ST T F A €40 B
IR TR W S Y e IRed @@ 2 30
%lﬁﬁwﬁ'l,so,oooqﬁﬁwﬁq‘mww
A AN % 34 STt ¥ HA oS R uw a9
# 360 i1 B ¥ W Sfvr f R FER
ez it = fromer frn smom = T A
1 difeq ghiea R 25% B

or
(3rga)

Briefly explain the Economic Order Quantity (EOQ) model

of inventory management. 4

P.T.O.
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(b) The following information is extracted from last year’s You are required to prepare an estimate of working

Annual accounts of ABC Ltd. : capital needed to finance an activity level of 1,30,000 units

Details ~ Amount per-Unit (%) o of production. Assume that production is carried on
‘ | evenly throughout the year and overheads and wages
Raw Material cost 100 . . .
accrue similarly. Work-in-progress stock is 80% completed
Direct labour cost 37.50 in all respects. 11
_Overheads\cost 75 : (%) fas= qal Yoy & 3Nfdw TR HAT (E0Q) Higd
: | H G899 H e SISl
Total cost _ 212.50
| (@) ABC fafaes & fasdt ad & anfties @l § Frafafea
Profit 37.50 . '
| g frewfda @t T ¥ .
- Selling Price 250 ? .
| AHHA ‘ Tty wfa gfe )
The company keeps raw material in stock on an average |
| - . | Fedl G W AR | 100
for four weeks, work-in-progress in stock on an average : : _
' . \ AT HAH ArTd 37.50
for one week and finished goods in stock on an average : ;
for two weeks. The credit allowed by suppliers is three SRR IRIUCE 475
weeks and company allows four weeks credit to its R rId 212.50
debtors. The lag in payment of wages is one week and Y 37.50
lag in payment of overhead expenses is two weeks. The
, IEERBCILG 250
company sells one-fifth of its output against cash and '
. . Fot e 4 gaE @ fau s w1 =@ lE
maintains cash in hand and at bank balance put together ! ‘FFN
P Tt §; w1 wifa W 9 " H ST |  99e

P.T.O.



1207

(24) 1207

% fau wfF T % R TR 9 w1 A =i
QA g9 & fou wa T g g T 99w

o1 Sfes fea o ¥ ol FOR o e @

'4~Ww$%zéﬁ%;q§1§ﬁﬁiﬁmwﬁﬁ
3w w20 ¥ FE T IA F ot

Y JwT A T ok dwE @y § ok ¥ §

3 ﬁ?am % 37,500 &1 Tl B
o i-,3o,odotgfﬁii%mﬁvﬁﬁf3%ﬁm

o v W F o B GO B S
TR FE T AR W A fR SR §RO9E
w@ﬁmarm%sfﬂwﬁsmamwﬁﬁ?ﬁ
T YR I At ¥ wHE R R A A

W% w TR A s0% TR g 3

2 8.400
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2

AT PO 9 AT A ¥ T SN R 2
5

(b) If margin of safety is Rs. 2,40,000 (40% of sales)

and P/V ratio is 30% of AB Ltd, calculate its (i)

break-even sales and (ii) amount pf profit on sales
of Rs. 9 lakhs.

afe AB fafiRs =t §eam € 2,40,000. Fo
(T =1 40%) 3R P/V UM 30% B, A IHH
(i) ww-fa=de faska awn (i) 9 @@ %o & fasww
T ATH &t HET S TOET IS | | 5

(c) X Ltd has earned a contribution of Rs. 2,00,000

and net profit of Rs. 1,50,000 on sales of Rs.
8,00,000. What is its margin of safety?

X fafiaes 3 8,00,000 Fo & fask@ W 1,50,000 %o
| w9 a9n 2,00,000 To H ANEH HATE |
I TR T =4 @ 2 5

Or (GTQ'EIT).

(a) Define Management Accounting and explain its

objectives.

YIUEE d@iE w uRaifm ST g s9e

I TR | 5

(b) In what respects is Cost Accounting different

from Management Accounting?

R i R e ¥ e i
fam 2 5

(c)

2. (a)

(b)

3 1216

The ratio of variable cost to sales is 70%. The
break-even point occurs at 60% of the capacity
sales. Find the capacity sales when fixed costs are

Rs. 90,000. Also compute profit at 75% of the
capacity sales.

fasha ok ufadmita @ma & g 70% 2 |
w-fasdg fag amar fasil & 60% W R
arar fos Fremfee s feR @FTd 90,000 %o @ 1
goar fosnt & 75% W ot freRfag | 5

Differentiate between Product cost and Period
cost.

IEE @A d afy anta § 9g i | 5

In a factory, 100 workers are engaged and average
rate of wages is Rs. 5 per hour. Standard working
hours per week are 40 hours, standard output is
10 units per hour. During a week in February,
wages were paid for 50 workers @ Rs. 5 per hour,
10 workers @ Rs. 7 per hour and 40 workers @
Rs. 8 per hour. Actual output was 300 units. The
factory did not work for 5 hours due to breakdown
in the machinery.

Calculate labour cost variance, labour efficiency
variance and idle time variance.

e sreEr F 100 FHAR FAW@ T T A H
st o 5 o S d 1| WAE A e
& 40 3 e A SERA 10 @ S e

: y megd F OTWHE S0
el F T T P.T.O.
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o ' _ f ] (i) Raise production and sales suitably without
w5 Fo 9, 10 w7 To changing the selling price. How muih should
ufd 2 qur 40 HHEE & 8 To Wiy rafiks) the sales be to maintain the same level of

o T | arafas AT 300 TEE 4T Wy profit?
T AOHA & FROT FREW N 5 ¥ T :;g’i* g2 | (ii) Raise the selling price suitably, but maintain
- production and sales at current level. To
W ATa o=, s g faewor sk ffsra wg attract dealers, increase the sales com-
feaor & T ifs | 10 mission. The variable selling overheads
increase by Rs. 4 per unit. Suggest a suitable

Or (31gan)

price to maintain the same level of profit.
(a) Distinguish between Standard cdsting and TS § IWE SAH dTet St SR 39S 9600
Budgetary control.

gal ufq o w1 IaRT w7 R 3% 120
To Ufq 3E W AT W 7| 217 & & 394 o0 g9
(b) A company currently manufactures 9600 units per T HT R A EY IR T F IR HF TG

month of its only product and sells them at Rs. ¥ 15% &t gfg Ort | 398 TRadg 9 «ft

120 per unit. Recently it agreed to a union

AT AT q0 Sota o & o Sifew ) 5

TEIER 9 AT |
demand for 15% increase in wages with effect ] : :
- from next month. This will also increase ‘the IATET F FaHH drTd &1 e = ®
variable overheads accordingly.
ingly T wiq S
The details of current cost of production are as (o)
follows: ' ' 50
: e AU
Cost per Unit (Rs.) : 20
Direct Material - 50 | A ey (A 9°
Direct Labour 20 gfadsid ( 20
Variable Overheads = 10%)
(100% of Direct Labour) = < gdaE TR W A @ F fFER A
o FrAt frafafaa
The company is considering the following strate- e gfsg R AW F & o
gies to neutralize the increase in cost with a view o EET W faER G| &
to mamtammg_proflt at current level: _

P.T.O.
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3

6

(i) Wtﬁﬁmmmma
fashl A ITYH T F TGMN AT F I
it ?

(ii) mmﬁmmﬁmw
3AA & foshl I T W W T4 wEwmr |
fashal &1 ot S seE sTila & )
IR fosha Sufteaa & 4 %o Wiy ged
& e | 9 H TR T @ F fog s
HHA YIART | 10

A paint manufacturing company manufactures

2,00,000 p.a. medium sized tins of Spray-Lac paints

when working at normal capacity. It incurs the
following cost per unit:

Particulars Rs.

Direct Materials " 7-80
Direct Labour 2-10
Variable Overhead 2-50
Fixed Overhead 4.00

Total Product Cost per Unit 16-50

Each unit of the product is sold for Rs. 21 with
variable selling and administrative expenses of 60 paisa

per tin. During the next quarter only 10,000 units can

be produced and sold. Management plans to shut down
the plant estimating that the fixed manufacturing cost
can be reduced to Rs. 74,000 for the quarter.

When the plant is operating the Fixed Overheads are

7 1216

incurred " at a uniform rate throughout the year.
Additional costs of plant shut down for the quarter are

~ estimated at Rs. 14,000. '

You are required:

(@) To express your opinion, along with the
calculations, as to whether the plant should be
shut down during the quarter.

(b) To calculate the shut down point for the quarter
in units of products (i.e., in terms of number of
tins).

O §UAl W HM R g T U i s

B-0% IR & A AR F G IART 2,00,000

fer st af et R 1 5% o A i g o

&

i e
. .
s
il - e 2.50
Pa—— 4.00
FA I AT BISIEEH sl

° ¥ a9 S ? e
mmaﬁ 'zflaa;a;ﬁrmmﬁasm = 60 ¥ wfa fem
3| srreht fammdt § FA 10,000 TR ST F Sft S0
gt ¥ | e S A SREN HFS HA R R
%wﬂmﬁgq%fwmmrmﬁa;
Fer 74,000 To qeh TN S WA ¢ | o
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8

wia @ 91 ¥ A fer STRe R ad Twe o

qmglmﬁ%mmﬁaﬁmmaﬁ

Al AT 1 A 14,000 To # |

YR ETIHAT 2

() @ foaur Q[ H, WERT F @y, 5 e
FREH & a5 FAT AT AT T

(i) T FH RO SR HoEEE F femw
fomd ® a< *0 = fag (@l s B 93 g
% IFEN) | e

Or (31gan)

A company at present is working at 90% capacity and
producing 13,500 units per year. It operates a flexible

budgetary control system. The following figures are
obtained from its budget:

Capacity  |90% 100%
%s 15,00,900 16,00,000
Fixed expenses 3,00,500 3,00,500
Variable expenses 1,45,000 1,49,500
Semi-fixed expenses (97,500 1,00,400
Units manufactured 13,500 15,000

Labor and material Cost per unit is constant under

Présent conditions. Profit margin is 10% of sales at
90% Capacity.

(@) You are required to determine the differential
Cost of producin

g 1500 units by increasing capacity
10 100%.

9 1216

(b) What price would you recommend for export of
these 1500 units, taking into account that overseas
prices are much lower than the indigenous prices?

TF 0t gra-freema 909 FAA W Fd o
T T 13,500 FEEA W s w @ § 1 ww
Fﬁﬂ?ﬁaaﬂzﬁﬁﬂawmﬁmaﬂ?ﬁ%l
mmaﬁnméﬁraﬁé

v 90% 100%
famg 15,00,000  |16,00,000
for =g 3,00,500 3,00,500
wEdasia =g 1,45,000 1,49,500
I9-foR =9 97,500 1,00,400
frfifa et 13,500 15,000

T T oW AR It =9 adam iiffaat § fer
? 1 90% &HAT U o AT fT 5 10% 1

(a) SUH &IAT H 100% q&F TG 1500 THE =
3T FA & fAC =R (Differential) @F@ &1
forecor & @

(b) ¥E = ¥ Wd gU f&% fadelt Find wewh wiwa
¥ F@ HA & AT 3 1500 FTHRA * Frafa F
faT forg AT &t FEEHIRE ST =96 ? 15

4. (a) What is meant by break-even analysis? Write the

assumptions of break-even chart.

P.T.O.
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(b)

10

w—ﬁ@z favawor 4 F AT %7 m—ﬁ#@a'

9@ ® WA ¥R 2 ’ 5

A company has a plant capacity of 19,800 machine
hours. The plant can produce either product A or
product B or a mixiure of the two products. The
following relevant information is given:

Particulars Product A
Selling Price per Unit Rs. 45
Variable Cost per Unit Rs. 30
Machine hours per Unit 5 hrs.
Particulars Product B
Selling Price per Unit Rs. 30
Variable Cost per Unit Rs. 18
Machine hours per Unit 3 hrs.

Market conditions are such that not more than
5,000 units of A and 4,000 units of B can be sold
in a year. Fixed costs are Rs. 60,000.

Calculate the product mix that will maximize the
net income and find that maximum income.

TF FW S HET WA 19,800 HYAT HUE R |
TIT IAE A AYGT I B UG Al IAIET H

fasmr a1 wear @1 frefafed wfe gee
Uy 2

oo E AN
fassa qea wfa sard Rs. 45
RIECREMISISI G (G Rs. 30
oY we ufq gere 5 hrs

(b)

11 1216

feramor IR B
fasra qea wfa sog Rs. 30
yfadsitel @rma 9fd g Rs. 18
Tyl o wfq geg 3 hrs

IR wRfeafat ¥ & fF T 9 § A 5000
ghEal 3R B &t 4000 FHEEEAT ¥ SarEr TE S«
ST "l | fRR AFTT 60,000 %o # |

T8 39 fay fefau st fAad 3mg & fasan
F AR IG AfYHad T St TUET HHAT | 10
Or (319d) '

What are the different methods for the measure-
ment of Divisional performance?

ﬁﬂnﬁwmhaﬁmﬁaﬁﬁfmﬁfuﬁw%?s

XY Ltd has prepared the following sales budget

for the first six months of the financial year
2016-17:

Sales Budget
Month Units
April 54,000
May 78,000
June | 61,000
July 52,000
August ' 40,000

Inventory of the finished goods at the end of
every month is to be equal to 25% of salcs

P. T, 4.
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estimate of the next month. On 1st April, 2016

there were 13,500 units of the product at hand.

There is no work in progress at the end of any
month.

Every unit of the product requires two types of
material input in the following quantities:

Material A S kg
Material B 6 kg

Material equal to 50% of the requirement of the

next moath’s production is to be in hand at the
end of every month.

This requirement was adequately met on 1st April
2016.

Prepare the following budgets for the first quarter
of the financial year 2016-17:

() Quantitative Production Budget
(i) Material Purchase Budget (Quantitative).

fadfta o 2016-17 & wam 6 Wl ¥ faw XY
feto ¥ fr forspa w9 daR fwen 2

forg s
534:?0‘30
78,000
61,000
52,000
40,000

994454

5. (a)

13 1216
TR W # e o AR $ o N ST
R % fasd UM & 25% & SR B =fET |
1 3%, 2016 S IAE W 13500 FHEAT oL A
of |
et oft wR ¥ ot A Wfa W &d & 7

maﬁmmﬁa?ra’rmm‘tqmuﬁ‘m
it e W ¥ eTEvEad

qmt A S kg
|t B 6 kg

TS W & 3 H A HAE & ST Hi
SEATAHAT St 50% WU g ¥ |t =AM |

1 3, 2016 H I MEAYEHAT D@ Y § [
M A :

foxfta af 2016-17 ® yu fo@l & fad fm
Waﬂ'ﬂﬂﬁﬁm

(i) TN ST T

(i) EEEl Y S (AT S |

Draw up a flexible budget for overhead expenses
on the following data at 80% capacity level and
determine the overhead rates at 70%, 80% and
90% plant capacity levels:

Variable .overhead:

P.T.O.
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Indirect labour Rs. 12,000
Indirect material Rs. 4,000

Semi-Variable overhead:
Power (30% fixed, 70% variable) Rs. 20,000

Repair (60% fixed, 40% variable) Rs. 2,000

Fixed overhead:

Depreciation Rs. 11,000
Insurance Rs. 3,000
Others Rs. 10,000
Total overheads Rs. 62,000
Estimated direct labour hours 1,24,000 hdurs.

80% &oal TR W frafafEa afwesl & ra ©@
Iqfeaa & fau SR a=e sFET 99 70%, 80%
I 90% TIA &al WA W SUR o & ToE
ST ' '

TEdaeie 3uft
HERRL L Rs. 12,000
MY UL Rs. 4,000
- ufardeier 3R |

i (30% &), 70% wfadsienRs. 20,000

WA (60% e, 409% wftad=sian) Rs. 2,000
fer Iuft '

Eﬁm@l%l“ Rs. 11,000
Rs. 3,000

H-
- Rs. 10,000

15

1216

9 IR Rs. 62,000
I TaE o 6 1,24,000 hours
| | 10
(b) Calculate from the following figures:
(i) Efficiency ratio’
(i) Activity ratio
(i) Capacity ratio:
Budgeted Production 880 units
Standard hours per unit 10
Actual Production 750 units
Actual Working hours 6,000
frrafafaa st ¥
() fo=ftw ergua
(i) Tfafafe s
(iii) &HAT AT
IECAISER
EECADECICC) 880 units
A U0 Nd IS 10
rdfden AT 750 THTS
- gredfas ST g 6,000
3

Or (31¥ar)

Write short notes on any three of the following:

(a) Performance Budget

P.T. O.
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(b) Responsibility Accounting
(c) Transfer Pricing
(d) Zero Based Budgeting.
frafafed 7 ¥ el f7 W dfea fooaoht ifag
(a) WY a9 | : -
(b) STRIAE TR
© T

(d) Y& ST awA | = BT
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(39 9797 & firad & I R 7@ [
A W 3 FHHF farad 1)

NoTE:— Answers may be written either in English or in

Hindi; but the same medium should be used
throughout the paper. |

feuuit.— g9 F9I97 H I Faw a7 fadl @&
qTyT § ST SferT ot WA FT "reay v g
&T TR | | ‘

Attempt all q'uestioﬁs'.
All questions carry equal marks.

mﬂnﬁ%mﬁﬁﬂn
Tt gva & o7F GHT B

1. (a) What is communication? Explain the various
clements in the communication process.

P.T.O.
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2
dOR T Y7 dOR wEw ¥ faf q@l &
QIR | ' .8

(b) Define DAGMAR model. Explain how marketers

can use DAGMAR to establish objectives. What

are some of the problems associated with the use
of DAGMAR model?

DAGMAR N&9 & TR Sifaq| qoeEe

faquraal ey wWifdg = § DAGMAR &

F T T TFA € | DAGMAR &9 & w@m

¥ gafua £ Rl S 4Ry | 7
Or (3gd)

(a) “Marketing communication occurs in distinct
phase at cognitive, affective and behavioural

level.” Based on this statement explain the AIDA
model.

“H TS, SEeie adl HiEads &R W faque
FOR e S0 W ufed 8l R 17 39 U W
e AIDA WAAH i 993sT | 8

(b) “Objective setting and budgeting go hand in hand
rather than sequentially.” Justify.

“Wmammmma—mﬂﬁ K|
for =it w1 ¥\ itfa fag sifaT) 7

2. (a) What is advertising? DiStinguish. between the

following and give examples:

(b)

(2)

3 1224
mw%?méﬁﬁqﬁﬁﬁm%'
ST

(i) Comparative
advertising

TS (oA ar fatte fasme

(ii) Reminder
advertising.

| o faea g ased a8

Discuss the factors affecting the choice of an
appropriate medium for advertising. Mention the

products for which television is the best medium
for advertising.

advertising vs  Surrogate

advertising vs  Advocacy

foq & & Iugw W & gAE o NWEl
s W foae wifsT) 39 sael &
g e faama & fag Icifasm wdsis

ey ? | 7

Or (3A9dn)

Explain the following terms with relation to
selection of a media category:

(i) Reach
(i1) Frequency_
1 o ® w e ot B T B wwew A
HHATRT:
(i) ug
(i) Agha

P. T.0.
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(b) What is media scheduling? How are continuity,

3. (a) Explain the

(a) You are aske

flighting and pulsing important in determining the
media schedule?

difea syt = R 2 difew sriww-ge %
frafeor & e, wemsfén o wier 3 wew

%7 L ' 7

organisation structure of an
advertising agency, mentioning its main depart-
ments.

T G il & TeAHeE 2T % SEHEmnE |
T & faaen &t 3fia | 8

(b) One of the advertiser’s most important creative

strategy decisions involves the choice of an
appropriate appeal. Explain the following appeals
giving suitable examples:

(i) Price Appeal

(ii) Positive Emotional Appeals.

w sfad o % 9a ¥ O faRrRm

Ty we mﬁwmﬁrgﬁqﬁmaﬁél
mmm&%gqﬁmaﬁr—ﬁﬁm@:

() ¥EA A
(i) TR AT 3T | !
Or (34d0)

d to prepare an advertising copy for

nce company to be inserted 1n 2

ife insura .
SN oints you would consider

newspaper. Explain the P
in preparing such a copy-

(b)

4. (a)

(b)

5 1224
Y TF GHERYA ® U Siaq S & &6
fagae Sfafafy daR & & fag & T ) A
fgell @ WUEEY @ AW wfafa AR &
g = ¥ @ 8

If you were to select an advertising agency to
develop and implement an advertising campaign
for a new washing machine, what factors would
you consider and why?

afe AR T T AT A9 & fagre AfEe
H fawfag w0 ao @i @ F fac @
e o I @, @S R SR W
@ 3 SR 49 ? 7

Advertising has been charged with encouraging
materialism, manipulating, offensive, poor in taste
Or creating stereotypes in society. Do you agree?
Comment on the ethical aspects of advertising.

ﬁmwmmﬁn%&aztﬂﬁmﬁam%u‘q‘;ﬁ
ﬁﬁmé‘cﬁ%,mmmé,gimmg’
ammﬁﬁ%ﬁﬁﬁméﬁ%.w
mmé?m%mmﬁqm

|
8

How ¢ isi
an the advertlslng department measure the

effectiv i
e lleness o‘f an advertisement after €xecution
ull advertisement campaign?

ﬁamafm%@fm A
i |

P T, 0,
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(a)

(b)

6
Or (Jga)
What do you mean by pre-testing of an

advertisement copy? Discuss the various methods
for pre-testing of an advertisement.

& fagm wfa & E-wEu ¥ A9 F= R
T2 qa;faamérqﬁvﬁwaﬁf’afﬂ:rﬁfmaﬁ
faarar sifeg | | 8
What is a misleading advertisement? What are the

legal remedies available to conSumers against
misleading advertisements?

TF e fagmeT &= 82 mﬁawﬁé:faw
m%ﬁmaﬂ@rwwqjﬁ.wmﬁ? 7

5. Write short notes on any three of the followmg

(a) Audlence Selection
(b) Role of ASCI

(c) Primary demand advertlsmg vs Selective demand

advertising

(d) Methods of compensatmg advertlsmg agency
(e) Radio copy. |

ﬁmﬁﬁ%ﬁmﬁmﬁwﬁmm
(a) & g

(b) ASCI =t wfirenr

(c) wraffss win fagqrm a9mg wata gir fasea

(d) W@W’taﬁaﬁwﬁﬁfw
(e) e =it

5.9

5600
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